S HRTR

2018 &= A %

P:

—





















N AN
= SR
EEg o 20 40

A H/ B

/INFRIEE

R

h I

I

WA IR E

SRS

B 2R

FRETE/ Rt

I EL Wi

REDT U=

R U

SRERE

il s
R l

Rt 1 . j( / zlg ﬁ‘j méll::

iR /=
Er ( 158E#kE, 47.88% )

T s
PSR A
= SEHE330EER

i
H
OX
%
., |
S
.|
i
il
® X
D
=i
ol




A

=

/NPREE
RIEELR
AR ORI
T

R /Rt
Fe R %

RE DT EE

B gL
SRR E
B
RRER
SR E
el Wi <3
SRR
TR
EHRSE/N R

20188 ZRIEEARS ]

1500 2000

2500 3000 3500 4000

1.X

( 31ME#%

/H 2t b 1o
B, 356957 ) TR
HABHII2EXE 3./\FREE




e

gmisss © | & 45856 - 2 FE708

d

C B E581 ~ & %376 2 p@329
+

N

S E o EE2TE ] A 271 S ﬂprizzg % %196

€ € &

Gac P 746,224 ~ 4237205 - ;% 14+186




& et

A EIEDE G % 23 S ﬂsi#*rs iFiE22 - 48 21

8%6

. /&‘XL_—;_24 2 =18 » ??@16 o] R g2 16

&= 6@1‘

§A EE2T ~ F 4G22 S % 21 ~ wfrslg




o

= o

OO
o
0.
0. O
%é’
OOOO
O00
©O o0 O o
O O o 1-50% =%
; O 51~100% =
@) O 101-150¢ =
®) O 151~300t =

Q O 301~700 & =
O 1764 8 =

)







\:1;_\
\}
ul

18145 T
- | IR+
i




e NE 1e) i

B,




B Sz 39 v RN
. = ey £ TN
. i - ; r /
O -

»  ZERME

- G 18 0




0 5

2000
1800
1600
1400
1200
1000
800
600
400
200

B e ke &

2 3 4 5 6 7 8
ek

oo

9 10 11 12 13 14 15



= % 2 \ >2
pr H ZEL r’\' 'gt _*7% ?\3

—

1348 -4 o W AL




Y

cBod A PF-1T6AE S S EE T 6148 =




2

14000

12000

10000

8000

6000

4000

2000

B 5E N A TR P

7 44
& 19.5+ 3.8 (9~27)
2= 2465413851 (50~31725)




2

14000

12000

10000

8000

6000

4000

2000

BcE 7464
= T =5
= J B
S
fRIER | sRE=ZE I B
: ' AE
: mE
o T HIES
vl
. * . ;’
3 6 9 12 15 18 21 24 27

fE48



=
AN
A
5
3.
-
-
A
>

25 +

}
.|.

g ]

e

20 +

St M0 IR

S > ot BN H

(vl
%

K ¢

ijn

ZINERE

13 14 15 16 17 18 19 20 21 22 23 24 25 26

RAMEE



tE (% )0 10 20 30 40 50 60 70 80
pEELi LS
/PR
BRI
B
IR o 7R
Bt a7 — = &S
s AI=2FP F
N SEETL &8
B = R /é == I? =
S T4 = = 24
iiﬁfi kil =E g
on = \ C E:l:
ch ) 45 82 ?Eggﬁi ﬁﬂj_mD
FE e i giﬁmﬁ
BESTRET/N...
R

BE—F BE_F BE—F
T Rt




kot
LA

(E‘E:

/ é,
J‘
Eﬁ%ﬁ ﬁaﬁmm@ %)
30 40 50 80 90 100

EEERE
INFREE

btk Sl awit =3
BE

AEREEE
KEHE
HEEE
R
BRER
BN ELRE
EEE
=EEE
BfERE
TBREMHE
ERBE
BRI RE
FRMEE
EEE
SRS/ RE
praav:ik=2
PEHE
EARHE
BEAEE
BEERE
DIRREE
ERIRE
BN mE
EMAFE
LB
HEHE
SLRE
EMERE (1E...
E2E

BE
REME







